RAREBE-CELRRFERE)

SHSE7AFI ARARRTEEHEE)

X5 REE% 57H 751 A 1R 2R | 3SR | 48R | SmIR EE

[Es JI & B 0 0 0 1 0 0 3 7

BB F B & & — 0 0 0 0 0 4 5

& ih R B — 0 0 3 3 0 2 7

N T B B 7B 0 0 0 2 5 0 0 18

X + A2 R B — 0 0 0 0 0 0 18

I O B OB R F — 0 0 1 0 1 i 17

a A B B &R B — 0 0 0 4 0 4 7

7 H X B R & — 0 0 1 0 1 2 7

5 P i) & B 0 0 0 0 4 0 0 5

2 K = ®R B — 0 0 0 0 0 1 8

A 5 & B 0 0 0 0 2 1 0 5

™ EE B R E 0 0 0 1 2 1 5 7

B & T2 R B — 1 0 1 5 4 3 6

i pi R B — 3 0 0 2 2 1 10

FHUOZREEEE o 0 0 0 0 2 0 22

7254 REREEFR A — — 0 1 5 2 5 12

TKFILELUV R D7—LER — 0 0 1 0 2 1 10

XIF2ESUFBHERASE| - — 0 0 4 0 7 19

s b L H L LNHE R - — 0 10 4 2 2 11

S LK H B LY E ) — — 0 0 2 0 6 10

AB O FHFINRE B - — 10 7 1 5 1 19

TAYTSYHRERF N - 2 1 5 4 5 3 13

SNV REBEVUE/NTHE o0 0 0 2 2 5 4 11

CLWAREBENMNEEHER| o0 0 0 3 8 3 7 8

FOoORDSVFEHAEREZE| — 0 1 2 4 2 2 15

S LK H B WA 0 0 0 1 0 2 1 9

EFHENDTLHLZPRESE — — 0 0 0 1 0 1

TATVSVRERB KRB - 6 0 0 2 0 1 12

N A5 R EEB KX B — 5 0 4 2 5 2 10

T = hH AN # H — — 1 1 5 1 2 9

JO—NILFXTyXHhEALE|] -— — 3 1 1 5 2 10

FAYT S5 REFEKXE — 1 2 2 5 6 3 8

F v XS5HKRKXEHR B -— — - 5 3 4 4 o
FVvXSAKXERBSBE| - — 0 — — — —

THREE STAR NURSERY %5 #% HT 3 2 4 14 17 23 20

JE—TURG—)LIFZ X &E 0 0 0 0 0 14

TUA—SEVREERBARE — — 0 4 1 0 5 15

STALYBRBFEOVEEBEAE — — 7 0 2 2 0 19

F-> X335 K HEAB K B -— 0 0 1 4 8 5 3

SH K AHLWVWEBHAEXRB o0 0 0 0 2 1 4 7

F—H—)L—LR)—_AF7—HKE[ — — 0 0 1 2 1 10

AIAl NURSERY H &K & E BT| — 0 0 0 2 2 0 8

F v XN RERAEB - — — — 3 2 0 0
FYVANDRAERABERBE] — 3 0 2 — — —

Fh gAa—NILFyXERBE - — 1 4 4 10 1 10

I [ED0 H X # & B H - 0 0 1 3 3 4 15

EI F - RBZTUKF G HE|] — — 4 11 8 5 3 12

I S b &L H B LM - — 6 6 8 1 10 10

El bk H b WNDLEREY] — — 6 5 9 6 6 10

F » RN % 5 v F H#H - 1 0 6 5 6 4 19

REmMFEFsb L A ERAGEA] — — — — 8 3 0 o
REMFHsO AERIESE 4 5 — — —

A B T b5 R B — 0 0 1 0 0 0 17

FoRDSVEHERE O] — — 14 17 4 5 5 10

ZF->RBSVKME KB -— — 5 9 9 4 10 11

A O FAEBEREBH - 0 0 2 3 4 1 14

Tz YA ABREE — — 3 5 5 5 3 20

VZAVRZFVvXABEBREERE| -— — 5 8 8 5 7 10

A B E B & # — 1 0 0 2 3 0 13

S H b INEMHEY - — 11 2 8 2 5 6

S L AHABHLWLAE D IH - — 7 5 2 0 0 10

B B B )L h & B 0 3 1 0 6 0 0 14

& b L R E B — 1 0 1 3 5 4 11

FHUDHZREERBLEE 0 0 0 1 2 10

F - R %3 35 > K B & = — 8 0 3 4 3 5 13

FoRBISVEEFERAYBESE - — 3 0 6 3 5 13

S S H B W EE - — 5 0 10 5 7 10

7 R U B E = & 7 B 0 1 0 1 2 11

NAxrxvtvtBEEREEEH - — 1 0 2 2 3 20

FoRBSVEHEEBMAEEE] 0 1 6 0 8 8 3 12

B & & 2 F A B B B - — 1 2 0 9 1 16

—FAFVRAEShONBESCTRRAER — 8 6 3 — — — 9
ZFAFVREShPOALBESTERERESE — — — — 4 9 6

AEDODFHEEBEBN)FDREE — — 0 2 1 1 1 9

REDXF—H)—Ry—)LiEE] — — — 1 3 0 1 o
RELXF—H1)—RY— LIEEHE — 5 0 — — — —

S &K H b WL B OO 0 0 0 — — — 4

INFETHTI—EBEBEREE| o0 0 0 0 — — — 4
INEETHTI—HEREESE| — — — — 3 0 0

FAOEBITEREBHE 1 0 2 1 0 8

I o S - Y S T - | B 0 0 0 0 1 0 10

¥ E #® C £ % — 0 0 0 0 0 0 19

£ B M < & 1 — — 0 2 3 2 2 15

v R A 2 F 3 B[ - — 0 0 0 0 0 10

- B L = - K % — 7 0 0 0 0 1 15

i v ) — R BEBE/NTRE 0 2 — - — 3

2 KuuKids — 1 0 0 — — — 8

51 oy 2 57H 7hA 1R 2R 3R AR 5k EE

3 60 117 170 249 209 219 923

I 578 | AR | 1&R | 2&R | s&R | 4mE | SRR | ER

LR 2 21 14 9 9 6 3 8

R LA R S5 578 | 7hA | 1RE | 2@ | 3®E | 4RE | SRR | EE

ELRI R 13 96 128 34 15 1 13 4

THSHF6A16BIRE



